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Clues for Logic Puzzle: K479VU

1. Neither Alexander's shipment nor the shipment going to Kennebunk is the shipment that cost $4.75.

2. Of the package going to Glenhaven and Tyler's package, one contains the television and the other
contains the tea set.

3. The six packages are the shipment going to Oakdale, the shipment that cost $4.75, the shipment that cost
$8.75, Christopher's package, Tyler's package and the package that cost $9.75.

4. The package with the computer in it isn't Christopher's.

5. Neither the shipment that cost $8.75 nor the package with the basketball in it is the package going to
Johannesburg.

6. The shipment with the television in it didn't cost $8.75.

7. The shipment that cost $5.75 is either the package going to Cherryfield or the package with the basketball
in it.

8. The package that cost $9.75 is going to Kennebunk.

9. Of the package going to Johannesburg and Luther's package, one contains the television and the other
cost $7.75.

10. The package with the rare book in it is Kenny's.
11. The shipment going to Cherryfield isn't Alexander's.

12. The shipment with the tea set in it cost somewhat less than Luther's shipment.
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